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Question 1.Select the related word/letters/numbers from the given alternatives:
23 T et o W JafAd s/ 31erlTem & gl

Preamble : Constitution :: ? : ?

JERT: I 7 ?

Options:

1) Word : Dictionary

RIC+

2) Contents : Magazine

fawg-a%q : ufier
3) Explanation : Poetry
: Shiddr

4) Preface : Book

YA : b

Correct Answer: Preface : Book
TRATGAT : &

Candidate Answer: Preface : Book
YA : Iddh

Question 2.Select the related word/letters/numbers from the given alternatives:
138 M fapeul ¥ 9 afRid g/ 31eRY/ @ ® gHul

EFG : VUT :: KM : ?

Options:

1) KIH
2) PON
3) ZxY

4) FDC
Correct Answer: PON
Candidate Answer: PON

Question 3.Select the related word/letters/numbers from the given alternatives:
2 M fawent & T afRia wsg/ 31&RY/REm # 9Tl

85:42::139:7?

Options:

1) 68

2) 69

3)70

4) 67
Correct Answer: 69
Candidate Answer: 69
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Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

T Uy o 3 MU fwent o I faww Sy siery Wem 9w |
Options:

1) Geometry

XGRTIr

2) Trigonometry

[ECILIEIR]

3) Algebra

CISHIUG]

4) Mathematics

Correct Answer: Mathematics

Candidate Answer: Mathematics

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

T Uy ¥ fqu MU fawedl & 9 faww ey sieRy e giu |
Options:

1) BDGK

2) JLOS

3) NPSW

4) MORU
Correct Answer: MORU
Candidate Answer: BDGK

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

T Uy H fqu T ol & 9 favw wiey sieRy e giu |
Options:
1) 64

2) 125
3) 225

4) 216
Correct Answer: 225
Candidate Answer: 125

Question 7.If the given words are arranged according to English dictionary, which word will be in third place?

U TN Treal B 3 e dH I F STAR HH I W TR BIF AT Xeg, AT VI TR G ?

http:/thepracti cetest.in/chalIengesyste@é%b’b’@é@ﬂésitiM@d&t_%aﬂﬂw%&&)ﬁﬁﬂmmé@o&d@&w@ﬂ- In
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Options:
1) KNOW

2) KNACK
3) KNIT

4) KNOB
Correct Answer: KNOB
Candidate Answer: KNOB

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

U H TP ogoH 3 7, Oros U ug gw 7| e e fawedt # @ w6} ided g it srgepd &l Qu |

ELFA, GLHA, ILJA, ? , MLNA

Options:
1) OLPA

2) KLMA
3) LLMA

4) KLLA
Correct Answer: KLLA
Candidate Answer: KLLA

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

T U H UP g T 8, SN T ue gw 2| U e e & § a8 uet e ghiu St orgpd &) I il

5,11, 17, 25, 33,43, ?
Options:
1) 49

2) 51
3) 52

4) 53
Correct Answer: 53
Candidate Answer: 53

Question 10.Pointing towards a photo, Rakesh said, "She is the daughter of the only son of my grandfather." How is the girl related to Rakesh?

TF WIC! Bl 3R SR B §U IS 7 g, T§ TR el 3! THHE T B T 2 | TSP BT Ah I Yt T2
Options:
1) Sister

g
2) Daughter

3) Grand Daughter
il

4) Cousin

TR T

Correct Answer: Sister
CREl

Candidate Answer: Sister
EREl

Question 11.A is mother of B, Cis son of A, D is brother of E, E is daughter of B. Who is the grandmother of E?

I A BHFAR, C, APIYIR, D, EFIUE T, E, BH IR, ME BT ] /AN BT 2
Options:
1)A

2)B
3)C

4)D
Correct Answer: A
Candidate Answer: A

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 3/29
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Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

FrafiRed faeedl # 3 a8 Teq T S AU 71T Teq & 31&RT 1 TGN BReb g1 ST ST Jebel ©

COURAGEOUS
Options:
1) COURSE

2) GRACE
3) SECURE

4) ARGUE
Correct Answer: SECURE
Candidate Answer: SECURE

Question 13.If THEN is written as RLBS , then how may CASE be written in that code ?

T THEN' &1 {5t I H 'RLBS' foraT ST B, o 98T 'CASE' &Y I i | 1 feran s 2
Options:
1) AEP)

2) APEP
3) EPAP

4) PAEJ
Correct Answer: AEP]
Candidate Answer: AEP]

Question 14.If ' * ' means subtraction ; ' - ' means division , ' o ' means addition and ' % ' means multiplication, then find the value of: 1303 *6 % 8-40 14 =7

e * BT ATAS YSHI 8, - BT HAGS [AHIT B Y §, 0 BT AAAT oTHT B U 81 3R % HT AT PN A G A 1303 *6% 8-4014=72
Options:
1)18

2) 14
3) 12

4)8
Correct Answer: 18
Candidate Answer: 18

Question 15.Some equations are solved on the basis of certain system. Find out the correct answer for the unsolved equation on that basis.
If 3%¥2*8*4 = 632,

2%4*4%4 = 816

then 3*3*5*]1 = ?

T THIHROT BT FB TUNTRRT & SR TR Bl FebTer T g | ST SMUR TR I FHIGRU BT Ve IR 1 B Foraapl g e} (Hprar mn g 2
afe

3*¥2*8%*4 =632,

2%4%4%4=816%),

W3*3*5%1=2?

Options:
1) 95

2) 45
3) 315

4) 184
Correct Answer: 95
Candidate Answer: 95

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 4/29
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Question 16.Find the missing numbers from the given alternatives

fau e et # ¥ qu gem g ?

86 |480] 38
72 | 510 21
36 | ? | 12

Options:
1) 120

2) 360
3) 100

4) 240
Correct Answer: 240
Candidate Answer: [ NOT ANSWERED ]

Question 17.Rema walked 10kms south and turned right and walked 5kms. Then again she turned right and walked 10kms. Then she turned left and walked 10km:s.
How many kms will rema have to walk to reach the starting point?

7 10 {570, & féror 3 @1 oiik =el ofR fhR aifes gs o 5 b, =eltl 98 bR aifes geaw 10 .41, =cll, fomm o et oiik 10 . h. =<k | for fag & S&9 9@
SRY T T, 39 a UgaA & forg 397 o) T fbaie Iaqm gem ?
Options:

1) 25 km

25 fob. 1,

2) 20 km

20 fo. o,

3) 5km

5 fav. .

4) 15 km

15 f5. .

Correct Answer: 15 km

15 for. .

Candidate Answer: 15 km
15 .1,

Question 18.0ne statement is given followed by two conclusions/assumptions, I and II. You have to consider the statement to be true, even if it seems to be at
variance from commonly known facts. You are to decide which of the given conclusions/assumptions can definitely be drawn from the given statement. Indicate your
answer.

Statements:

All Hindus are God fearing. No Japanese is a Hindu

Conclusions:

I. The Japanese are not God fearing.

I1. All God fearing are Hindus.

39 Uy o U Jaaeq foar T § S om <l fel/araat, 1 e 11 fAdrel T 81 3Tah! fIuR FR1 € 6 9o I § 918 98 AW I at I i udiia giar 8
TaeH! ok 3T § b AU T Jaaey § | oH-91 Ridd $U 3 It Fens/mamadr R S G g1 8 IR & Ricy S
FUF : 9t e g o ¥ 810 8| B1s +ft STl g 8 B
. SO @ o oiRs A B
11 T enf o R B
Options:
1) Only conclusion I follows
19818
2) Only conclusion II follows
Fad Fepy 11 961 ]
3) Both conclusion I and conclusion II follow
37 e w8
4) Neither conclusion I nor conclusion II follows

1 a) P 1 oIk 1 € e 11 wel @

Correct Answer: Neither conclusion I nor conclusion II follows

1 dl ey [ ek A1 ey 11 e

Candidate Answer: Neither conclusion I nor conclusion II follows

16 Freey [ ek 1 ey 1 T8

http://thepracti cetest.in/chalIengesyste@é%b’b’@é@ﬂésitiM.@d&t_%a@D“YS&EpB@ﬂMW.’Sbﬁé@Oé‘kddé&f@é}sd@r1- In 5/29
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Question 19.Find the number of triangles in the figure

STpfa B Py &1 T st 2

Options:
1)8

2)9
3)11

4) 13
Correct Answer: 13
Candidate Answer: 11

Question 20.Study the following Venn Diagram and find the region representing persons who are educated and employed but not confirmed.

fFrafefad 97 3 1 sierad IR, SR 98 &3 F1d B ot I afaerdl &1 axifan gf ot Rifda 81 Al & 81 g uaa! A1 & A g

—_ _——— Employed
Educated / ﬁ)q\f' ™ '
——( * <Selr | <)
;"':'_/Confirmed
- in Job
Options:
1)a,c
2)a, b, c
3)b, d
4)a, d c

Correct Answer: b, d
Candidate Answer: b, d

Question 21.Which answer figure will complete the pattern in the question figure?

D I IR 3P Ty MBI F wfoey B e ?

http://thepracti cetest.in/chalIengesyste@é%b’b’@é@ﬂésitiM.@d&t_ﬂiapms&gpﬁﬁﬂmmé@oﬁd@&&é}ﬂ@m- In 6/29
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Options:
1)

—

-

3)

-

4)

-

Correct Answer:

m

Candidate Answer:

http://thepracticetest.in/challengesystem/i' ésporise Lgudstions php?t 1d=MDY=8&appld=:1a4fif78243024af40¢TSdeceiIOnLEY: 7129
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded [

& IR Spladl § A IY IR P B gAY e vy el ARk 71

Options:

Correct Answer:

Candidate Answer:

g

http://thepracticetest.in/chall engesyste@&Wﬂngaéati M@d@t_%apﬂs&gpﬁ@ﬂhm@dﬁd@&%d@rt In 8/29
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Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

i ot et 1, A2 Uy Snpfordl # fAwTT SfguR HiSER PTel S df Wie UR 98 s IR SMTpfa S s & 2

Options:
1)

2)

3)

4)

Candidate Answer:

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 9/29
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Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

39 Uy N I T U0 BT MN a1 TR W1 9 Al S IR Spfadt H W B A SHepia wer Spfa 1 Wt wfafena gRft 2

M N

Options:
1)

)

2)

®

3)

.

4)

®

Correct Answer:

®

http://thepracticetest.in/chall engesyste@&b&fﬂgéﬁbaééti M@ﬁ&t_%apm&&pr@ﬂMWmﬁ@o&d@&&éw@ll In 10/29
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Candidate Answer:
e
e

g I

Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 4 and that of
Matrix II are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., O can be represented by 03,14, etc.,
and 'K' can be represented by 56, 65, etc. Similarly you have to identify the set for the word 'EASE'

Teb Teg hac Ueb GOI-GHE GRI 201 711 €, O b fyepedi 7 @ el wp i o mran 81 fepedt  f2Q 7w Siom T eferi & <) avif gRT ewig MU €, O fob < g g
a F 5 1 3Tog 1 % T 3R Ual 1 T 0 T 4 AR A I FT 5 V9 AT ]I 7 [T T 31&R P Ued ITB! Uai 3R a18 H T TS GRT =0T 1
Tebell |%33r6w$1%m'0'a?r03, 14 31 GRT SRMAT o Febell § G 'K ' BT 56, 65 AT GRI ST Gl & | 3 aRE § MU T §U Wed 'EASE' & T THg
BREIEE IR

MATRIX | MATRIX I

0 12 3 4 5 6|7 8 9
0 E S UOCH 5 EK AN S
1/ 5 UH/|E|O 6 KA S E N
2 Q| H E|S|U 7 NS EK A
3 U E O H|S5 g8 AE N S K
4 H O U S E 9 S N K A E

Options:
1)55,85,44,42

2)77,85,88, 44
3)77,66,31, 44
4)00,98,23,98

Correct Answer: 77, 85,88, 44
Candidate Answer: 77,85, 88, 44

Question 26.The rate at which RBI gives short term loan to commercial banks is called

YR Rord Jo amforfoues St o o/ aR IR 31e FHifdids 01 & 8, 39 T Hed § ?
Options:

1) Repo rate

e

2) Reverse Repo rate
e

3) Bank rate

EE

4) Cash Reserve rate
T IR &

Correct Answer: Repo rate

Candidate Answer: Bank rate
o R

Question 27.The nationalisation of major commercial banks took place in

TS IO TP BT ATHT T garT ?
Options:
1) 1947

2) 1956
3) 1969

4) 1980
Correct Answer: 1969
Candidate Answer: 1956

Question 28.Lok Sabha Secretariat comes under the direct control of

TraHT Tfyare W fFraes Friaor & ofrr 3 2
http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 11/29
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Options:

1) Ministry of Home Affairs

T8 HAR™

2) Ministry of Parliamentary Affairs
TICT SR HAeR

3) Speaker of Lok Sabha

THGHT G

4) President

Correct Answer: Speaker of Lok Sabha

TABHT el
Candidate Answer: [ NOT ANSWERED ]

Question 29.Which of the following Act introduced separate electorates (communal representation) for Muslims?

f=ffea o 9 fd tae 3 JuadH & o oreRT Hacrdrst (Weie HiaeT) & URe &1 2
Options:

1) 1892 Act

1892 Ta

2) Act of 1909

T 3% 1909

3) Reforms of 1919

1919 HT TR

4) Government of India Act of 1935

1935 BT HRd IRDPR Tac

Correct Answer: Act of 1909
T 3% 1909
Candidate Answer: [ NOT ANSWERED ]

Question 30.Where is the Brihadeshwar temple, built during the Chola period, located?

=l & JHY P 'IELTR TR Pel fRUT B 2
Options:

1) Mysore

2) Mahabalipuram

3) Tanjavur

4) Kanyakumari

Correct Answer: Tanjavur

TR

Candidate Answer: Mahabalipuram

Question 31.The first protocol to ban the emissions of choloroflurocarbons in the atmosphere was made in

IR B FIR-TRIRIDTe Iegoi TR Ufaey e Jeieh T Melebiel gl o o ?
Options:

1) Montreal

2) 6saka

3THT

3) Geneva

4) Florida
ARSI
Correct Answer: Montreal

Candidate Answer: [ NOT ANSWERED ]

Question 32.Blood group was discovered by

I g (STS-YU) B @il fooem 31 ot 2

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 12/29
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Options:
1) Alexander Fleming

2) William Harvey
B
3) Landsteiner

4) Paulov
LIIC]
Correct Answer: Landsteiner

Candidate Answer: Landsteiner

Question 33.Magnetic Meridian is a

ks e R 2

Options:

1) Line parallel to the equator of the Earth

et Y yEer XA & IR

2) Latitude

SN

3) Line joining the geographic north and geographic south of Earth

gt % e IaR SR HRiiferes aferor &l Siiga arel YT

4) Plane passing through the magnetic north and magnetic south of Earth
gt & ARfeH SaR SR AR Gfor | R ITer &

Correct Answer: Plane passing through the magnetic north and magnetic south of Earth
gt ¥ FRfed IR 3R A e J o aran &sf

Candidate Answer: [ NOT ANSWERED ]

Question 34.Programs that duplicate the functionality of one system on another system is known as

S T U Ried & GaRH &) g Ried IR FaHd ST, 35 o1 Hed § ?
Options:

1) Emulators

2) Simulators

3) Evaluators

4) PCB
s

Correct Answer: Emulators

Candidate Answer: Simulators

Question 35.The manufacturing of iron from iron-ore involves the process of

e 3R ¥ e A 37 31 Uil &l | Fed | 2
Options:

1) Oxidation

Sl CRIER

2) Reduction

rpepn

3) Electrolysis

faya sroae

4) Fractional distillation

TYTST STa

Correct Answer: Reduction
crpepn

Candidate Answer: Electrolysis
faa sroges

Question 36.In a rainforest, the vegetation that grows under the shade of a canopy is known as

ayf-aq § fBd U & 89 & 9 o) g7eufd ST 8, SY RN BEd © ?

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 13/29
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Options:

1) Crown
P13

2) Canopy

EZI

3) Understorey
ST

4) Forest floor
g--dd
Correct Answer: Understorey

Candidate Answer: Crown
I3

Question 37.The term "roll-in" is used in

Options:
1) Cricket

2) Tennis
o
3) Hockey

4) Golf
Tieh
Correct Answer: Hockey

Candidate Answer: [ NOT ANSWERED ]

Question 38.Which of the following is the busiest International sea port in India?

fefefad faeed! & § URd BT Yo T SR S8 PH-TTR ?
Options:

1) Mumbai

2) Kolkata

PIABI

3) Kochi

EaEil

4) Tuticorin
Correct Answer: Mumbai

Candidate Answer: Kochi

Question 39.The word "Secular" was added to the Preamble of the Constitution of India by which Constitutional Amendment?

YRT H Ty 3 SR | 'y Ruer Teg S Y WY I=eH GRI SeT T ?
Options:

1) 41st Constitutional Amendment

4191 SfauF T=eA

2) 42nd Constitutional Amendment

4291 SfquF TR0

3) 43rd Constitutional Amendment

4391 SfaYF H=NeA

4) 44th Constitutional Amendment

4431 FfauE T=NeA

Correct Answer: 42nd Constitutional Amendment
4291 IfauE T

Candidate Answer: 42nd Constitutional Amendment
4291 Ay T

Question 40.Who coined the slogan "Inquilab Zindabad"?

“ghard foremEe” &1 ART fasaq far 2

http:/thepracti cetest.in/chalIengesyste@é%b’b’@é@ﬂésitiM.@d&t_%a@D“YS&EpB@ﬂMW.’Sbﬁé@Oé‘kddé&f@é}sd@r1- In
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Options:
1) Subash Chandra Bose

JUN T SN

2) Balagangadhar Tilak
CINRIN ErARKED

3) Bhagat Singh

ud Rig

4) Sukhdev

Correct Answer: Bhagat Singh
uTa Rig
Candidate Answer: Sukhdev

Question 41."Great Barrier Reef", the world's largest Coral reef is located in

g & Ted 92 BRA % I TR I Fef a2
Options:

1) Caribbean Islands

ENEUE]

2) Australia
3) P‘hilippines
fopferdi=a

4) Indonesia

Correct Answer: Australia

Candidate Answer: Indonesia

Question 42.Decoding and interpretation of visual information in brain is associated with

AiGrss B 220-Ta1 & fJeis 3R ogRe &l T fbad § 2
Options:

1) Frontal lobe

A aTen i

2) Occipital lobe

URIHUI Uil

3) Temporal lobe

FIUC BT UTlel

4) Parietal lobe
forcita urfer

Correct Answer: Temporal lobe

HIUCt BT UTfel
(OR) Parietal lobe
it

Candidate Answer: [ NOT ANSWERED ]

Question 43.Flemings "Left hand Rule" is associated with the effect of

AT BT G g o fhad Fafa 8 2
Options:

1) Electric field on current

YRT IR faya &=

2) Magnetic field on magnet

TS R D &

3) Electric field on magnet

TS R fAyd &

4) Magnetic Field on current

YR TR R 1T &

Correct Answer: Magnetic Field on current
YRT TR BT &

Candidate Answer: Electric field on current

YRT R 3y &=

Question 44.An emulsion is a colloidal solution of

T i (b Blage! fea g g ?

http://thepracti cetest.in/chalIengesyste@&bﬁdé‘é@ﬂésitiM@H'p@t_]%aMD‘V&&)B@HMM@&@O&MMH@Y1 In 15/29
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Options:

1) Liquid in liquid
ECRC

2) Solid in liquid
ECR:K

3) Gas in solid
IWH

4) Solid in Solid

3N T 3N

Correct Answer: Liquid in liquid
ECR T

Candidate Answer: Solid in liquid

sad 3N
Question 45. is a byproduct of sewage treatment and can be decomposed to produce bio-gas

ffaRed o O 1 Aeea-SUER T JUIAIE § O SR §99 & o S sroafed faar s 8 2
Options:

1) Sewage

(o) T

2) Sludge

gl Bas

3) Sewer

HAYUIT

4) Scum

DI

Correct Answer: Sludge

el HIS

Candidate Answer: [ NOT ANSWERED ]

Question 46.The BRICS New Development Bank (NDB) is headquartered at

forrr =g saauie S (T, €Y. & gee™ FEi | ?
Options:

1) Shanghai

2) New Delhi

3) Brasilia
EISIRENS

4) Moscow

Correct Answer: Brasilia

EIINES

Candidate Answer: Moscow

Question 47.Which one of the following cities of Iraq is located on Tigris river?

frfafed § O oH-91 1 e o 7dl & fF IR sa gan & 2
Options:

1) Baghdad

qclq

2) Mousul

3) Kirkuk

4) Basra
TR

Correct Answer: Baghdad
Candidate Answer: [ NOT ANSWERED ]

Question 48.Human Development Index is prepared by

THa ISR gadhics HH TR HAT g ?

http://thepracti cetest.in/chalIengesyste@é%b’b’@é@ﬂésitiM.@d&t_%a@D“YS&EpB@ﬂMW.’Sbﬁé@Oé‘kddé&f@é}sd@r1- In 16/29
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Options:

1) UNDP

T I famr HrRisHH
2) WTO

fazg MR wreA

3) IMF

SRR T HIY

4) WHO

fazg W@y dred

Correct Answer: UNDP
g I o HrRiey
Candidate Answer: [ NOT ANSWERED ]

Question 49.Uber Cup is associated with
IR P g Ta I TrEfd 82

Options:

1) Football
Padld

2) Handball
3) Bgadminton
4) Squash
XhAIRI

Correct Answer: Badminton

Candidate Answer: [ NOT ANSWERED ]

Question 50.The food in Onion is stored in the form of
s 7 G e 5 w0 # TEd g g ?

Options:

1) Cellulose

2) Protein

iG]

3) Starch

wE

4) Sugar

Correct Answer: Cellulose

Candidate Answer: [ NOT ANSWERED ]

Question 51.If 4/5th of a number exceeds its 3/4th by 8. then the number is :

Tt T T 4/5 HITT 3G 3/4 ¥ 8 RS S AN T AR ?

Options:
1) 130

2) 120
3) 160

4) 150
Correct Answer: 160
Candidate Answer: 160

Question 52.The rate of discount being given on a shirt,where selling price is Rs. 546 after deducting a discount of Rs. 109 on its marked price, is

TH HHIS U & o Xa1 BE BT & T g1 o1 faohd Ged S9d 3Hfdhd I WR Rs. 109 &1 FE HIe & 9IG Rs. 576 BT ?

Options:

1) 14%

2) 18%

3) 15%

4) 16%

Correct Answer: 16%
Candidate Answer: 15%
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Question 53.If the ratio of two numbers is 1:5 and their product is 320, then the difference between the squares of these two numbers is

Tfe; &1 Geait BT SuTd 1:5 B 3R I UHHE 320 8, Y 37 &1 Teafi & a7l & g SiaR b g 2
Options:
1) 1024

2) 1256
3) 1536

4) 1435
Correct Answer: 1536
Candidate Answer: 1536

Question 54.Numbers of boys and girls are 'x' and 'y' respectively ; ages of a girl and a boy are 'a' years and 'b' years respectively. The average age (in years) of all
boys and girls.

TSH! U4 Al Bl TS HHY: 'x AR 'y 1 T ASH! 3R Uh TSP B oY HU: 'a' T¥ 3R 'b' a9 g1 T dew! oIk Taiaal o shaa oy frat (awfd ) § 2
Opti :

1)') ions

x+y

bx + ay

2)
bx+ ay

x+y

3)

ax + by

x+y

4)
x+y
ax + by

Correct Answer:
x+y

bx + ay
Candidate Answer:

bx + ay
xX+y

Question 55.A man bought 30 defective machines for Rs. 1000. He repaired and sold them @ Rs. 300 per machine. He got profit of Rs. 150 per machine. How much
did he spend on repairs ?(in Rupees)

m%zowmﬁﬁ Rs. 1000 & Wt T Fh! AT I R 3% Rs. 300 Uit A= &t & § 99 faam| 39 Rs. 150 Ul A=A @y gl 399 TRed W o
?

Options:
1) 5500

2) 4500
3) 3500

4) 2500
Correct Answer: 3500
Candidate Answer: 4500

Question 56.x is 5 times longer than y. The percentage by which y in less than x is :

Xy U5 AT R y,x ¥ foram ufa=rd #9 § 2
Options:

1) 50%

2) 40%

3) 80%

4) 70%

Correct Answer: 80%

Candidate Answer: 80%
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Question 57.A motor cycle gives an average of 45 km per litre. If the cost of petrol is Rs. 20/litre. The amount required to complete a journey of 540 km is, (in
Rupees)

T Hie ARfbd 45 {11, /ditex &1 3id 3 81 af Udiat &t H1ud Rs. 20 Ufd [Riex 7, at 540 35,141, &1 oo ot oA & bt I o1 (=, & ) anazgesar gFit 2

Options:
1) 120

2) 360
3) 200

4) 240
Correct Answer: 240
Candidate Answer: 120

Question 58.A sum of money amounts to Rs. 6655 at the rate of 10% compounded annuallly for 3 years. The sum of money is

DS 4RI 10% Thqie MM X TR 3 T H Rs. 6655 B Wil § | LRI et B 2
Options:
1) Rs.5000

2) Rs.5500
3) Rs.6000

4) Rs.6100

Correct Answer: Rs.5000
Candidate Answer: Rs.5000
Question 59.

If x*- 4x + 1 =0, then the value of

x0+1
3
&
X°+1

g x? — 4x 4+ 1 = 0& (—) &7 A AT
b4

Options:

1) 48

2) 52

3) 55

4) 58

Correct Answer: 52
Candidate Answer: [ NOT ANSWERED ]

Question 60.

1
If (a—2)+ = —1 then, the value of (a+ 2)2+

(a+2) @t ™

TG (a2 1 1 W(as2P+ 1 STHAFIEM
(a+2) (a+2)2

Options:
1)7

2) 11
3)23

4) 27
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]
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Question 61.

If X 13 thenxequalsto
1 e EIEDERS,
RV

x 13
b T E,a’rxﬁ?ﬂﬂqws’nﬂ?

Options:
1)1

2) 13

3) 27

4) 25
Correct Answer: 25
Candidate Answer: 25

Question 62.If '0' is the incentre of the A PQR. If POR = 115°then value of 2PQR is

T3 '0' APQR T 3(d: 5 81 3IR 2POR = 115° B, Tl LPQR &1 HF T § ?

Options:
1) 40°

2) 65°
3) 50°

4) 25°
Correct Answer: 50°
Candidate Answer: 50°

Question 63.The inradius of triangle is 4 cm and its area is 34 sq. cm. the perimeter of the traingle is

U By Bt 3fd: s 4 A, § 9IR I S 34 T AAL. 71 By w1 uRem s 2
Options:

1)8.5cm

8.5 4.1,

2) 17 cm

17 9.1

3) 34 cm

34 .4,

4) 20 cm

20 9.1,

Correct Answer: 17 cm

17 9.

Candidate Answer: 17 cm

17 9.1,

Question 64.If tanB+cot8 = 2 then the value of tan"8 + cot"@ is

TfS tanB+ cotd = 2 B, @ tan"@ + cot"e T A T gRT ?
Options:
1) 2"

2) 2?2
3)
1
22

4)2
Correct Answer: 2
Candidate Answer: 2

Question 65.A certain number of men can do a piece of work in 60 days. If there were 6 men more, the work can be finished 20 days earlier. The number of men
working is

5% iR B B B 60 3T & - Fehal §1 TR 6 Safet 3R 81 Y o™ 20 7 U8A W1 &) Webarl 81 i suferial &) G fha © 2
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Options:
1)6
2) 12
3) 18

4) 24
Correct Answer: 12
Candidate Answer: 12

Question 66.
Ifa’=b+c,b’=c+a,c®=a+bh,
then the value of
1 1 1

3(a+1 G b+1 = C+1)

1 1 1
AEal=b+c b= E=a+bWI—— ot ——}
“ © erhae =t T e

) &1 HI 4 grEm?

Options:
1)1

2);

3)3

4)4

Correct Answer: 3
Candidate Answer: 3

Question 67.The area of a triangle ABC is 10.8 cm2. If CP = PB and 2AQ = QB then the area of the triangle APQ is

T FAYS ABC &7 &% 10.8 4.2 1 A2 CP = PB 3R 2AQ = QB &1, dl Y APQ &1 &5l fhaT § ?
Options:

1) 3.6 cm?

3.6 Q.12

2) 0.9 cm?

0.9 9.7.2

3) 2.7 cm?

2.7 9.2

4) 1.8 cm?

1.8 9.11.2

Correct Answer: 1.8 cm?

1.8 9.2

Candidate Answer: [ NOT ANSWERED ]

Question 68.ABCD is a trapezium in which AD||BC and AB = DC = 10 m. then the distance of AD from BC is

ABCD e THeE 7 forad AD|[BC 3R AB = DC = 10 Ht. &I, & AD ¥ BC &1 g3t J1d Biford ?

10m

45
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Options:
1)

10v2m

10V2 #r.

2)

-’-1-\@ m
4+/2 #r
3)
5v2m
542 7T,
4)
6v2m
6+/2 #1.

Correct Answer:

5v2m
5+2 #.

Candidate Answer:

52 m
5+2 A,

Question 69.From the top of a building 60 metre high, the angle of depression of the top and bottom of a tower are observed to be 30° and 60°. The height of the
tower in metre is

60 . It 3R & Y F, U clax & Y Ud UTe & 3raid BIvT 30° 37R 60° s T § 1 elar @t S (Hiex H) fbait gkt 2
Options:
1) 40

2) 45
3) 50

4) 55
Correct Answer: 40
Candidate Answer: 40

Question 70.If a circle of radius 12 cm is divided into two equal parts by one concentric circle,then radius of inner circle is

I 12 .70, B a0 99 B TP Gbfad 99 gRI &1 SRR YT B i fopan S €, o siiaRes g @ s fba gl 2
Options:

1)6cm

6 9.1,

2)4cm

431,

3) 6v2cm

6v2 9.4,

4) 4/2 cm

4v2 9.4,

Correct Answer: 6v2cm
6v2 A,

Candidate Answer: 6 cm

6 9.1

Question 71.If cosx = siny and cot ( x-40°) = tan (50°-y), then the value of x and y are ;

T cos x = sin y 3R cot (x-40°) = tan ( 50° - y) B, A x 3R y BT A T R ?
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Options:
1) x = 70°, y = 20°

2)x=75°y=15°
3) x=85°y=>5°

4) x =80°,y = 10°
Correct Answer: x = 85°, y = 5°
Candidate Answer: x = 85°, y = 5°

Question 72.The bar graph shows the number of males and females(in crores) in India during 1951-1991. Read the graph and answer the following questions

feu T IR W, HURT H 9 1951-1991 F SR GEET 3R AR B Tewr &I Fafid a1 81 W BT 31eqe Y 3R e vl &1 3R vl

T m
WMALE W FEMALE
44

as
POPULATION 41

an

IN CRORES 35
£ 33
) 28
26
= 23
71

b2 18 g

13

10

1

981 1991

What was the approximate percentage of female population in India during 1991 ?

YR § 1991 & SR AT SHTATE ST SHIC Hf=Ict o o7 ?
Options:
1) 48.23

2) 48.02
3) 48.03

4) 48.33
Correct Answer: 48.23
Candidate Answer: 48.02

Question 73.The bar graph shows the number of males and females(in crores) in India during 1951-1991. Read the graph and answer the following questions

fau e IR I, URa B af 1951-1991 % TR GINT SR AR BT Tew B i F=a1 81 W BT remT IR SR FEfiiRdd w31 SR

=0
ENALE mFERtaLE
as

a4
POPULATION 41
an
IN CRORES -
£ 33
k] 28
26

F3
o 18 17
1%
18
.

1871 1381 1991

—_—

23
21
0 1951 1961

Year
What was the approximate number of males in India in 1971 per thousands females

YR ¥ 1971 § Ul §OIR AT R G Bt SIgHIG TRe faat off 2
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Options:
1) 913

2) 1075
3) 1077

4) 1175
Correct Answer: 1077
Candidate Answer: [ NOT ANSWERED ]

Question 74.The bar graph shows the number of males and females(in crores) in India during 1951-1991. Read the graph and answer the following questions

U T 9R 7, URT H 9¥ 1951-1991 F TR GBI R AR 3 Tem B 3 IRA1 81 WE BT g B AR PR uwAl o1 3w il

T m
WMALE W FEMALE
44

as
POPULATION 41

an

IN CRORES 35
£ 33
) 28
26
2 23
71

b2 18 g

13

10

1

981 1991

What is the ratio of the numbers of females in India in 1961 per thousand males to the number of males in India in 1991 per thousand females ?

YRA 7 1961 T UfI TR T=01 TR HiRenail ot T2 3R YR H 1991 | Ui §9IR AfRanai TR R} o1 TRe 1 3uTd fha g ?

Options:
1) 943:1077

2) 1077:943
3) 1073:913

4) 913:1073
Correct Answer: 913:1073
Candidate Answer: [ NOT ANSWERED ]

Question 75.The bar graph shows the number of males and females(in crores) in India during 1951-1991. Read the graph and answer the following questions

fau e IR W, URa B af 1951-1991 % TR GINT SR AR B Tew B i F=a1 €1 W BT remT IR SR FEfiiRyd w31 SR T

=0
ENALE mFERtaLE
as

a4
POPULATION 41
an
IN CRORES -
£ 33
k] 28
26

5
o 18 17
1%
18
.

1871 1981 1991

—_—

23
21
0 1951 1961

Year

Assuming that the rate of increase in the total population in India during 1991-2001 remains the same as that was during the period 1981-1991, estimate the total
population in India in 2001.

g UFIR o URT A 1991-2001 & IRF $d A H TN Jig 1981-1991 BI 3afd) F SRA Uia=id g & SRR o, URd H 2001 T F TS BT 3fidwa B |
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Options:

1) 105.62 crores

105.62 HRIS

2) 106.25 crores

106.25 BRI

3) 106.52 crores

106.52 HRIS

4) 105.26 crores

105.26 IS

Correct Answer: 106.25 crores
106.25 RIS

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

NEGOTIATION

Options:

1) IN-BETWEEN

2) CARELESSNESS

3) BARGAINING

4) SLACKNESS

Correct Answer: BARGAINING

Candidate Answer: SLACKNESS

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

IMPROMPTU
Options:

1) PUNCTUAL
2) PROMPT
3) PREPARED
4) PROFOUND

Correct Answer: PREPARED
Candidate Answer: PREPARED

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Bureaucracy

2) Beureaucracy

3) Beureaucracie

4) Bureaucracie

Correct Answer: Bureaucracy
Candidate Answer: Beureaucracy

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He told his friend (A) / that he could not do that work (B) / because it is not to his taste (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The tragedy of Julius Caesar (A) / was written by William Shakespeare (B) / about 1599 (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: A
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Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The writer is (A) / evidently enamoured at (B) / the subject (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Nothing is impossible him.
Options:

1)in

2) about

3) for

4) on

Correct Answer: for
Candidate Answer: for

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

My relations him are not friendly.
Options:

1) between

2) with

3)to

4) for

Correct Answer: with

Candidate Answer: with

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

George
Options:

1) was coming

2) came

3) is coming

4) comes

Correct Answer: came
Candidate Answer: came

to this country a year ago.

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Blow one's trumpet
Options:

1) To praise another

2) To praise a leader

3) To praise oneself

4) To praise a community

Correct Answer: To praise oneself
Candidate Answer: To praise oneself

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Stick to his guns

Options:

1) Stand by his truth

2) Maintain his own opinion

3) Maintain his weapons

4) Maintain his anger

Correct Answer: Maintain his own opinion
Candidate Answer: Maintain his own opinion
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Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

At sea

Options:

1) Journey

2) At a loss

3) Surprise

4) Sad

Correct Answer: At a loss
Candidate Answer: Sad

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who is eighty years old
Options:

1) Septagenarian

2) Sextagenarian

3) Nonagenarian

4) Octogenarian

Correct Answer: Octogenarian
Candidate Answer: Octogenarian

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A shady fertile place in the desert
Options:

1) Oasis

2) Motel

3) Orchard

4) Garden

Correct Answer: Oasis
Candidate Answer: Oasis

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A place where bees are kept
Options:

1) Apiary

2) Nursery

3) Aviary

4) Kennel

Correct Answer: Apiary
Candidate Answer: Apiary

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Seeing may be believing but understanding are definitely knowing.
Options:

1) understanding could be knowing

2) understanding to know

3) understanding is definitely knowing

4) No improvement

Correct Answer: understanding is definitely knowing

Candidate Answer: understanding to know

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

There are some bacteria that are survive inside nuclear power stations.
Options:

1) have

2) were

3) can

4) No improvement

Correct Answer: can

Candidate Answer: can
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Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No sooner did she finish the lecture, that the students began to leave.
Options:

1) then the students began to leave

2) than the students began to leave

3) and the students began to leave

4) No improvement

Correct Answer: than the students began to leave

Candidate Answer: than the students began to leave

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Hundreds gathered to await the boxer's arrival at the airport.
Options:

1) to await for

2) to awaits for

3) to wait

4) No improvement

Correct Answer: No improvement

Candidate Answer: to awaits for

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The dissidents hold a great problem in every political party.
Options:

1) cause

2) instil

3) incite

4) No improvement

Correct Answer: cause

Candidate Answer: cause

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Stockholm is spread out on an archipelago of 14 islands, where Lake Malaren meets the Baltic Sea. More airy than Venice, with wide-open spaces, it is one-third
water. Its other two-thirds combine arched bridges, jet fountains, and palatial buildings trimmed with gold. For Stockholmers, fans of great outdoors, this is an
amiable and graceful home and a healthy environment in which to live. Minutes from the city centre are parks and woodland for recreation, and clear water for
swimming and fishing. In winter, everyone takes to ice-skating, on artificial rinks in the shadows of grand palaces, or on the frozen waters of the channel.

Stockholm is also a city at the leading edge of fashion, design and advanced technology. Fashion houses and IT companies use the city as a test market for their
innovations, especially as Stockholmers are followers of technology. Stockholm is the capital as well as the largest city of Sweden. It is the site of the government and
Parliament of the country.

An archipelago is a collection of
Options:

1) cities

2) islands

3) lakes

4) coral-reefs

Correct Answer: islands

Candidate Answer: islands

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Stockholm is spread out on an archipelago of 14 islands, where Lake Malaren meets the Baltic Sea. More airy than Venice, with wide-open spaces, it is one-third
water. Its other two-thirds combine arched bridges, jet fountains, and palatial buildings trimmed with gold. For Stockholmers, fans of great outdoors, this is an
amiable and graceful home and a healthy environment in which to live. Minutes from the city centre are parks and woodland for recreation, and clear water for
swimming and fishing. In winter, everyone takes to ice-skating, on artificial rinks in the shadows of grand palaces, or on the frozen waters of the channel.

Stockholm is also a city at the leading edge of fashion, design and advanced technology. Fashion houses and IT companies use the city as a test market for their
innovations, especially as Stockholmers are followers of technology. Stockholm is the capital as well as the largest city of Sweden. It is the site of the government and
Parliament of the country.

Stockholm is
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Options:

1) One-third water and two-thirds arched bridges, jet fountains and palatial buildings

2) Two-thirds water and one-third land

3) Full of tall buildings

4) a city with lots of people

Correct Answer: One-third water and two-thirds arched bridges, jet fountains and palatial buildings
Candidate Answer: One-third water and two-thirds arched bridges, jet fountains and palatial buildings

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Stockholm is spread out on an archipelago of 14 islands, where Lake Malaren meets the Baltic Sea. More airy than Venice, with wide-open spaces, it is one-third
water. Its other two-thirds combine arched bridges, jet fountains, and palatial buildings trimmed with gold. For Stockholmers, fans of great outdoors, this is an
amiable and graceful home and a healthy environment in which to live. Minutes from the city centre are parks and woodland for recreation, and clear water for
swimming and fishing. In winter, everyone takes to ice-skating, on artificial rinks in the shadows of grand palaces, or on the frozen waters of the channel.

Stockholm is also a city at the leading edge of fashion, design and advanced technology. Fashion houses and IT companies use the city as a test market for their
innovations, especially as Stockholmers are followers of technology. Stockholm is the capital as well as the largest city of Sweden. It is the site of the government and
Parliament of the country.

What is the opposite of the word 'amiable'?
Options:

1) Enervating

2) Refreshing

3) Invigorating

4) Unpleasant

Correct Answer: Unpleasant

Candidate Answer: Unpleasant

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Stockholm is spread out on an archipelago of 14 islands, where Lake Malaren meets the Baltic Sea. More airy than Venice, with wide-open spaces, it is one-third
water. Its other two-thirds combine arched bridges, jet fountains, and palatial buildings trimmed with gold. For Stockholmers, fans of great outdoors, this is an
amiable and graceful home and a healthy environment in which to live. Minutes from the city centre are parks and woodland for recreation, and clear water for
swimming and fishing. In winter, everyone takes to ice-skating, on artificial rinks in the shadows of grand palaces, or on the frozen waters of the channel.

Stockholm is also a city at the leading edge of fashion, design and advanced technology. Fashion houses and IT companies use the city as a test market for their
innovations, especially as Stockholmers are followers of technology. Stockholm is the capital as well as the largest city of Sweden. It is the site of the government and
Parliament of the country.

Why is Stockholm used as a test market for innovation by IT companies and Fashion houses?
Options:

1) The Stockholmers are followers of technology.

2) Stockholm is the largest city of Sweden.

3) The citizens are fashionable.

4) The people like the outdoors.

Correct Answer: The Stockholmers are followers of technology.

Candidate Answer: The Stockholmers are followers of technology.

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Stockholm is spread out on an archipelago of 14 islands, where Lake Malaren meets the Baltic Sea. More airy than Venice, with wide-open spaces, it is one-third
water. Its other two-thirds combine arched bridges, jet fountains, and palatial buildings trimmed with gold. For Stockholmers, fans of great outdoors, this is an
amiable and graceful home and a healthy environment in which to live. Minutes from the city centre are parks and woodland for recreation, and clear water for
swimming and fishing. In winter, everyone takes to ice-skating, on artificial rinks in the shadows of grand palaces, or on the frozen waters of the channel.

Stockholm is also a city at the leading edge of fashion, design and advanced technology. Fashion houses and IT companies use the city as a test market for their
innovations, especially as Stockholmers are followers of technology. Stockholm is the capital as well as the largest city of Sweden. It is the site of the government and
Parliament of the country.

Stockholm is important to the country because .
Options:

1) it has palatial buildings.

2) there are parks and woodlands for recreation.

3) there are artificial skating rinks.

4) it is the largest city and capital of Sweden.

Correct Answer: it is the largest city and capital of Sweden.
Candidate Answer: it is the largest city and capital of Sweden.
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